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MATHS

BOOKS - CHHAYA MATHS (BENGALI)

1. T PeT BEl /sin5 zdx

o Watch Video Solution

2. 5T IBAF BET : [cos® 2zdx



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kTWcbdA87epF
https://dl.doubtnut.com/l/_YzcjjquE9NFe

I o Watch Video Solution

3. YHIHAA BEH /sin4 zdx

o Watch Video Solution

\/sinx
4. TP Pdl :

dzx

9
CoSz I

° Watch Video Solution

5. IBAN Dl :fcan5 rdx

° Watch Video Solution



https://dl.doubtnut.com/l/_YzcjjquE9NFe
https://dl.doubtnut.com/l/_r52iKzbXQrIB
https://dl.doubtnut.com/l/_pkSizISkzZ2R
https://dl.doubtnut.com/l/_74kMdX46JNSW
https://dl.doubtnut.com/l/_U0G1Gwxeb1IR

6. STTHA BT : [cot® zdx

° Watch Video Solution

7. TR BE :/sec6 zdx

o Watch Video Solution

8. BT~ Bl : [cos eczdx

o Watch Video Solution

9. M IPT~ Bl : /sina: sec® zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_U0G1Gwxeb1IR
https://dl.doubtnut.com/l/_n8kqGXj3a2kz
https://dl.doubtnut.com/l/_bvsW0nB1nxvt
https://dl.doubtnut.com/l/_O4yXhD8nE4UN

10. TIH fAST F@t: [cos ec?zdx

° Watch Video Solution

dx
4+ 5cosx

1. 917 A7 @t :

o Watch Video Solution

dx

.3~ fAfgda: [————
4+ 5sinx

o Watch Video Solution

dx

13. FIF AT BQ: /

3sinxz — 4cosx


https://dl.doubtnut.com/l/_O4yXhD8nE4UN
https://dl.doubtnut.com/l/_B8rkN50qYzYf
https://dl.doubtnut.com/l/_wbuGgzIOwtKv
https://dl.doubtnut.com/l/_DszenafyCPET
https://dl.doubtnut.com/l/_Z1HJwCQV6nl9

o Watch Video Solution

14. J17 fAdg It - ST dx

sinxz — cos

° Watch Video Solution

5.5 Bt et ; [2082 T 3sme
3cosx + 2sinx

o Watch Video Solution

, — 22
16. TR Al BT - ? dz
3x2 — 2r — 8

° Watch Video Solution



https://dl.doubtnut.com/l/_Z1HJwCQV6nl9
https://dl.doubtnut.com/l/_EIQTRdPdWXck
https://dl.doubtnut.com/l/_YfAZyjWveYIr
https://dl.doubtnut.com/l/_e6XC1GScYCCj
https://dl.doubtnut.com/l/_HZE9sApFqYAq

, 2 3
17. 917 o BT - TS e
3 + 2 — 2

o Watch Video Solution

:133

18. JIA AT BT : / dx
z—1)(z —2)(z — 3)

° Watch Video Solution

19. 917 fif a@t / "l 5

) (2z — 1)

° Watch Video Solution

dx

20. 1A fAT St : —
z?(yz + 1)

I o Watch Video Solution


https://dl.doubtnut.com/l/_HZE9sApFqYAq
https://dl.doubtnut.com/l/_ouFM0AkYrrDp
https://dl.doubtnut.com/l/_1Hd23j9WsVhB
https://dl.doubtnut.com/l/_2aZqLuLIproM
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1+ x3

21. Ji7 T &l dz

o Watch Video Solution

22. TIPeAq BET: [sin® = cos® zdx

° Watch Video Solution

23. 5TTIPAA BT : Jcos® z sin? zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_2aZqLuLIproM
https://dl.doubtnut.com/l/_0nWiwlwRcO0f
https://dl.doubtnut.com/l/_xVX52lLWcZ8u
https://dl.doubtnut.com/l/_QzgoPtKhQNOP

24. THIBAF BET - /sin3 x cos® zdzx

o Watch Video Solution

zssn:rﬁrcrzrw/ a—b
(x —a)(x —b)

o Watch Video Solution

1
26. J1F fAg et / dx

(x —n)(z —m)

o Watch Video Solution

27.W25(2IT:/(2$4 —Tz? — 4)dw

Y.


https://dl.doubtnut.com/l/_7wp4FlqfqUjt
https://dl.doubtnut.com/l/_nyS6pW8hiG7k
https://dl.doubtnut.com/l/_Z1uL83BgfZ3Q
https://dl.doubtnut.com/l/_k6gHuXN8tUWR

l @& \VWatch Video Solution

28mﬁrcrzrastzn/
4—1—:1: — 12

o Watch Video Solution

2
29. T+ fAfg St - z dr

x6 — 623 +5

o Watch Video Solution

x6 — 1

30. I fAg @l dz

rz—1

o Watch Video Solution



https://dl.doubtnut.com/l/_k6gHuXN8tUWR
https://dl.doubtnut.com/l/_UMXVp5Efx7cI
https://dl.doubtnut.com/l/_cyj3LwUj9SiF
https://dl.doubtnut.com/l/_dZk91LtScNzS

, inxd
31. FH A Bt : :m"" v
sin® x + cos3 x

° Watch Video Solution

1./sec6 rdz THIPAF AT FATO 2 IO 2« -

A sinz = 2
B.cosx = z
C.tanx = 2

D.ta,nza: =z

Answer: C

V o



https://dl.doubtnut.com/l/_AiRpCQXW4ggv
https://dl.doubtnut.com/l/_gECbtOwqtA2j

I ° Watch Video Solution

2. /cos ec® zdx TAIHAA fAST HTO 2067 IO 21 -

A.cotx = 2
B.cosecxcotxr = 2

C. cotzzc =z

D. ATid (BIAIG3 A

Answer: D

O Watch Video Solution

3. /sin4 x cos® zdx NP fAfT FIE 2 PO 2[ -


https://dl.doubtnut.com/l/_gECbtOwqtA2j
https://dl.doubtnut.com/l/_cKPcrrobvbPP
https://dl.doubtnut.com/l/_Ti4PAxnxpAXL

A.sinz = z

B.cosx = 2z

C.tanxz = 2

D.cotx = 2

Answer: A

o Watch Video Solution

4, /sin3 x cos’ zdzx

° Watch Video Solution

5. /cos5 zdz TR FrO 2teT IO 2 -



https://dl.doubtnut.com/l/_Ti4PAxnxpAXL
https://dl.doubtnut.com/l/_GZn7sJQGFnXQ
https://dl.doubtnut.com/l/_6KvEVKu9B3UP

A.cost = z

B.sinx = z

C.secx = 2z

D.tanx = 2

Answer: B

o Watch Video Solution

6. /can3 xzdx I A -

1
A. Etan2 z + log|secz| + ¢
B.tan” 2 — log|secz| + ¢

1
C. 5‘0&112 x — log|secz| + ¢


https://dl.doubtnut.com/l/_6KvEVKu9B3UP
https://dl.doubtnut.com/l/_S9QIouuDSqkZ

1
D. Etan2 x — log|cosz| + ¢

Answer: C

O Watch Video Solution

7. /sin2 x cos® xdx=

1 3. 1 5

A.§cos x—gcos T+ c
1 5 1 3
B.gcos m—gcos T +c
1-3 1-5
C.§51n w—gsm T+ c
1-5 1-3
D.gsm w—gsm r+c
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_S9QIouuDSqkZ
https://dl.doubtnut.com/l/_uqjYXlwQwd2L

8. /cos ectzdz=

1
A.—cotx + §cot3w +c

1
B.cot &z + §cot3w +c

1 3
C.cotxz — gcot T+ c

1
D. — (cota: + Ecot3 x) +c

Answer: D

° Watch Video Solution

9, /sin3 %dw=

2
A. gcos?’% — 2cos£ +c

2



https://dl.doubtnut.com/l/_uqjYXlwQwd2L
https://dl.doubtnut.com/l/_RwOuP5iN0R7V
https://dl.doubtnut.com/l/_IzkpikJuBUSz

B. 2 cos z zcos3 z +c
| 2 3 2

Answer: A

o Watch Video Solution

10. T IPA~ BT : /:055 zdx

o Watch Video Solution

1. TFIBAF @l : [sin® zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_IzkpikJuBUSz
https://dl.doubtnut.com/l/_s82nLjgZnLRk
https://dl.doubtnut.com/l/_2kgniLjo3FoN

12. TP Bl /cos4 zdx

o Watch Video Solution

13. P AF Bt : [sin? z cos® zdx

° Watch Video Solution

. X
14. T IPAF Bl :/sm5 Edm

o Watch Video Solution

15. 1PN DET: [sin’ z cos® zdz


https://dl.doubtnut.com/l/_2kgniLjo3FoN
https://dl.doubtnut.com/l/_446PgCu5L178
https://dl.doubtnut.com/l/_ccM9zZnGsuKA
https://dl.doubtnut.com/l/_aXTNPYwo0HuC
https://dl.doubtnut.com/l/_GRyGszTJvpGH

o Watch Video Solution

16. TP AF B : [sin® z cos® zdz

o Watch Video Solution

2

17. THIHAF FEI :/cos z sin® zdx

o Watch Video Solution

18. TATHAN BE: [sin? = cos? zdzx

o Watch Video Solution



https://dl.doubtnut.com/l/_GRyGszTJvpGH
https://dl.doubtnut.com/l/_6knP6ydy86Rc
https://dl.doubtnut.com/l/_x4iZEOpWtwwi
https://dl.doubtnut.com/l/_dCkFkKKxPApp
https://dl.doubtnut.com/l/_gScSu0yQWP9G

4

19. ST IHAN BEl /sin x cos® zdzx

° Watch Video Solution

20. STIHAN Bl : [sin 3z cos® zdx

o Watch Video Solution

21. THI®T DAl : /sin 2z sin® zdx

o Watch Video Solution

22. TIBeAq BET: Jcos 2z sin® zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_gScSu0yQWP9G
https://dl.doubtnut.com/l/_hXTfzVhCKbsF
https://dl.doubtnut.com/l/_SBbT5tfIlIhi
https://dl.doubtnut.com/l/_WiZSsh6nOoWn

23. A IPAF BET : /\/sinw cos® zdx

o Watch Video Solution

sin x

24, J1HAF Dl dx

cos 2x

° Watch Video Solution

sin®

25, TSN Dl dx

cos®

° Watch Video Solution

dz
26. A THh AN Il : /
Vsinz cos”


https://dl.doubtnut.com/l/_WiZSsh6nOoWn
https://dl.doubtnut.com/l/_CZYCNsejim7K
https://dl.doubtnut.com/l/_bfUb4pEySYMw
https://dl.doubtnut.com/l/_0IWYC89agewS
https://dl.doubtnut.com/l/_UWBZ83e9WMK8

o Watch Video Solution

cos?

27. TP Il : / 1
sin” x

dx

° Watch Video Solution

zssrmm?rm-/ S0
o (1 + cos 6)*

° Watch Video Solution

29. AHIBAF BET : ﬁ:an?’ zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_UWBZ83e9WMK8
https://dl.doubtnut.com/l/_OziEE5WllZq3
https://dl.doubtnut.com/l/_Ttm1s3Z8pcAZ
https://dl.doubtnut.com/l/_sL6Qxc1dsWD6
https://dl.doubtnut.com/l/_IeobKpiXI59I

30. T @ : [cot? zdz

° Watch Video Solution

31. TP dEl: [cot® zdx

o Watch Video Solution

32. TG AA BT : [sinz cos® zdz

° Watch Video Solution

33, MBI : [sect zdx

° Watch Video Solution



https://dl.doubtnut.com/l/_IeobKpiXI59I
https://dl.doubtnut.com/l/_XoeMpGonkCWZ
https://dl.doubtnut.com/l/_rwYOmTJlCpWP
https://dl.doubtnut.com/l/_V954i78u6qG3

34, HIHAA B :/cos ecdrdx

o Watch Video Solution

35, MHIHA ! : [sec® zdx

° Watch Video Solution

36. THIHAF BEI :/cos x cos ec’zdx

o Watch Video Solution

37. TIPS Bl : [tan? z sect zdx


https://dl.doubtnut.com/l/_V954i78u6qG3
https://dl.doubtnut.com/l/_WWy9w9qJAYvp
https://dl.doubtnut.com/l/_WeWX7AfVvLFr
https://dl.doubtnut.com/l/_CqSOCLY7YrO7
https://dl.doubtnut.com/l/_w49uBOvxmbTw

o Watch Video Solution

COS T

38. MHIPcT Pl : dx

cos 2x

° Watch Video Solution

cotx 4
39, AP eTq Pl /( - ) dx

sSin x

o Watch Video Solution

sin®

2
COSs5 I

40. F1HTA Bl : dx

° Watch Video Solution



https://dl.doubtnut.com/l/_w49uBOvxmbTw
https://dl.doubtnut.com/l/_zwHJrSksmuCW
https://dl.doubtnut.com/l/_Ee9qwVyo84rJ
https://dl.doubtnut.com/l/_NSWx2II2k207
https://dl.doubtnut.com/l/_8XbhlyMVFmFv

dx

sin? z cos? z

41. AP Il :

o Watch Video Solution

42 AT PAA P : [——m—
1+ sm2a:

o Watch Video Solution

dx
43 . T [DHcTA D[l :
1+ cos?zx

o Watch Video Solution

44, DA Bl :

dx
2

b2 cos?x + a2sin x

I o Watch Video Solution


https://dl.doubtnut.com/l/_8XbhlyMVFmFv
https://dl.doubtnut.com/l/_hvHn4yweU6yw
https://dl.doubtnut.com/l/_yYwBWP6cYvuC
https://dl.doubtnut.com/l/_nx1fVhzVmZD0

dx

T + cos2zx

45, TP~ Dl :/

2 sin?

° Watch Video Solution

46. 5T PcTH Bl :/ de 2
(3sinz + 4cos )

o Watch Video Solution

sinx

47. 1P~ Pl dx

sin 3x

o Watch Video Solution



https://dl.doubtnut.com/l/_nx1fVhzVmZD0
https://dl.doubtnut.com/l/_Li5ljPBTEzvD
https://dl.doubtnut.com/l/_LQTLvtF3KvEY
https://dl.doubtnut.com/l/_1fcCXLpsWcoU

COS T

dx

48. DA Il :/
cos 3x

o Watch Video Solution

dx

49, TPl Il :
5+ 4coszx

° Watch Video Solution

dx

50. A Td A Il /—
5+ 4sinx

o Watch Video Solution

dx
51. AR A Il :

3+ 2sinx + cosx

| O


https://dl.doubtnut.com/l/_yuF2zwp3oBkY
https://dl.doubtnut.com/l/_adjmxsF5Rmpz
https://dl.doubtnut.com/l/_WtvCP30cNuoY
https://dl.doubtnut.com/l/_O16VEc40g7OO

L_—_Watch Video Solution

52. AT IBeTd Pl :/ < dzx
(z +1)(2x + 1)

° Watch Video Solution

(z — 1)dz
(z — 3)(z +2)

53WW/

o Watch Video Solution

—1
54, HTH AN Bl : v dz
6x2 +x — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_O16VEc40g7OO
https://dl.doubtnut.com/l/_zSMTRF6pH9uH
https://dl.doubtnut.com/l/_2Ese2nKLO59T
https://dl.doubtnut.com/l/_sY6JvVuz19he

/ dx
55. AP AA Pl :
(z —a)(x — b)

° Watch Video Solution

/ zdx
56. AT [Dh A Pl :
(z —a)(x — b)

° Watch Video Solution

z + 2)dz
(z —a)(x —b)

57WW/

o Watch Video Solution

2
58, e Bt L T g
x3 + x2 — 6z



https://dl.doubtnut.com/l/_1RT9I5HOFOAD
https://dl.doubtnut.com/l/_XFCzPL6tS86W
https://dl.doubtnut.com/l/_4cdHtlKbh684
https://dl.doubtnut.com/l/_0lvubsSlDBFR

l ®J Watch Video Solution

59, T PeT~ DB :/(a:3 +22° — z — 2)dz

° Watch Video Solution

2
60. ST IPeT DI :/w—ﬂdw
z(z? — 1)

° Watch Video Solution

x2dz

ol EITRIT/:I:—&(czz—b)(a:—c)

o Watch Video Solution



https://dl.doubtnut.com/l/_0lvubsSlDBFR
https://dl.doubtnut.com/l/_Cb2bCFBrbNnY
https://dl.doubtnut.com/l/_EE0kxtwKV9x2
https://dl.doubtnut.com/l/_pRIIZsA5p8rP

+ 1)dz
@12

(2z
62. TP Il : /

o Watch Video Solution

z2 -3
63. A DT~ Il : dx
3 — 92 + 6

o Watch Video Solution

MWW/ ¢t -1 .
2 _3x+2

o Watch Video Solution

(z — 2)

d
(z —3)(z —4) !

GSWW/

[


https://dl.doubtnut.com/l/_FJ7nOdgK842R
https://dl.doubtnut.com/l/_a3YsHiqgLbEa
https://dl.doubtnut.com/l/_Tf2blpHdLnNb
https://dl.doubtnut.com/l/_EV8KtLOqMbtW

l @Y Watch Video Solution

dzx

66. A TDHcT~ I :
x2 4+ Tz + 12

° Watch Video Solution

x2dzx

o7. EITRIT/:I:—&(:I;—b)(:l;—c)

o Watch Video Solution

3
68. DA P(dl :/ z dz
x2 —4x + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_EV8KtLOqMbtW
https://dl.doubtnut.com/l/_jWMbDEaGvlPd
https://dl.doubtnut.com/l/_2uOkMx0bu6XT
https://dl.doubtnut.com/l/_B8v3iepj8hAL

69. AT H A Bl :/ 5
z(z + 1)

o Watch Video Solution

dzx
x3 4+ x4

70. DTy Bl :

° Watch Video Solution

. . / dx
71. 3 TH A DGl :
2+ 4

o Watch Video Solution

72.Ww:/(w 1)z 1 2)

| e


https://dl.doubtnut.com/l/_1ufP6vRtPiVy
https://dl.doubtnut.com/l/_5MOLx4KICKpe
https://dl.doubtnut.com/l/_s2xIcgHs6uuf
https://dl.doubtnut.com/l/_OrvLIjaJmzjl

l & Watch Video Solution

dx
5 2
z?(x — 1)

73. 7S BT :

° Watch Video Solution

74. TIHAF Bl :/(a:3 — 2’ —z +1)dz

° Watch Video Solution

dx

(z — a)’(z — b)

755{‘&'@7{5@”/

o Watch Video Solution



https://dl.doubtnut.com/l/_OrvLIjaJmzjl
https://dl.doubtnut.com/l/_RWgzwBNUl7Z4
https://dl.doubtnut.com/l/_2C0x5z4T34im
https://dl.doubtnut.com/l/_yJLAEpNjNDJx

xdx
76. DA Id] :/
(z — 1)(:1;2 + 4)

° Watch Video Solution

77. T IPAN DI :/9/;3 + 3z + 2dx

o Watch Video Solution

78WWT/$_1( Yy

o Watch Video Solution

79, SR Tt |22t " 4,
9eZ — 4e— 7



https://dl.doubtnut.com/l/_WUcdxfh1pkan
https://dl.doubtnut.com/l/_k0RjiHP0s7Iv
https://dl.doubtnut.com/l/_5wSEQN2EhBLN
https://dl.doubtnut.com/l/_FFibqUllVo9p

[ W Watch Video Solution

sin 2zdx

80. HTH A Il :/
sin® x + cost x

° Watch Video Solution

sin 2x
81. AHTHAA B[l :/ 5 dzx

(sinz + cos x)

° Watch Video Solution

82. TG Il : [——— % g
SInx + cosx

° Watch Video Solution



https://dl.doubtnut.com/l/_FFibqUllVo9p
https://dl.doubtnut.com/l/_evcuERoW7DeD
https://dl.doubtnut.com/l/_DykzrSqzZGUm
https://dl.doubtnut.com/l/_SYJbv1aEjY37

sin xdx

83. [P eTd DI :/ -
sinx + cosx

o Watch Video Solution

dx

84. D cTd D[l :
cos 2z + 3sin’ z

o Watch Video Solution

85. PN Wl : [/1 + secxdx

° Watch Video Solution

cosx + 2sinzx
86. ST IHAN Pl : —dz
3cosx +4sinx

& .


https://dl.doubtnut.com/l/_1b5yunb1Y5MF
https://dl.doubtnut.com/l/_du0642vyfzX2
https://dl.doubtnut.com/l/_gKgQy0iq5iF1
https://dl.doubtnut.com/l/_77onWpC0oQcq

| ¥ vvatch viaeo soiution

87. AP cTA Il : /
1-— 31114:13)

° Watch Video Solution

dzx
88. AT THh AN Il : 5
b2 cos? x + a?sin x

° Watch Video Solution

89. AHTHeT Pl :

ad dx
r— V2 -1

° Watch Video Solution



https://dl.doubtnut.com/l/_77onWpC0oQcq
https://dl.doubtnut.com/l/_QBo0RwBq0G8x
https://dl.doubtnut.com/l/_ltZ2UNtAhF80
https://dl.doubtnut.com/l/_a7IXEQ25Jx6X

90. AP A Pdl :/—
1+ tanzx

o Watch Video Solution

tanx

91.WW:/—dw
1+ tanzx

° Watch Video Solution

sin x
92, TP T~ D[l :/ dz
v1—sinx

° Watch Video Solution

. . dx
93. DA P(dl :/—

(1+z)

o [~

[ =


https://dl.doubtnut.com/l/_n6aERXW28wla
https://dl.doubtnut.com/l/_kLpLfHQ0S7Zr
https://dl.doubtnut.com/l/_EFCdnFcgtNkA
https://dl.doubtnut.com/l/_DZT3VE9dBnZD

l ®J Watch Video Solution

94. THTHA B :/cos4 0 sin 0d6

° Watch Video Solution

95, T IPAA BT : [cos® z sin® zdz

° Watch Video Solution

z + 1)e”
96. ATHAA Pl : [———dx
sin?(ze?)

o Watch Video Solution



https://dl.doubtnut.com/l/_DZT3VE9dBnZD
https://dl.doubtnut.com/l/_K4u2cAzyyHfd
https://dl.doubtnut.com/l/_nDXHGMQvNDNK
https://dl.doubtnut.com/l/_zkrtbFoj4P66

sec? zdzx

97. AP A~ Bl :
a?tan®z + b2

° Watch Video Solution

98. AT IH A~ Il :/cos a cos xdx

o Watch Video Solution

in(log x)
99, AHIH AN Il :/s—dzc
Xr

o Watch Video Solution

dx

100. T TPeTy Hdl : /
(1 + 2x)

| e


https://dl.doubtnut.com/l/_VVJ5HQC0Y0nU
https://dl.doubtnut.com/l/_9uv6MIcem0Kq
https://dl.doubtnut.com/l/_WGRz9kfLqyL3
https://dl.doubtnut.com/l/_LlvjmMbY0dKx

[ & Watch Video Solution

4 2
1
101, THTDAA D[l :/w Tt dx
2 +1

o Watch Video Solution

2
102. DA D] :/ z7dz
(22 + 1)(22 + 2)

o Watch Video Solution

103. TR A D[] :/ dz
(z + a)(x + b)

o Watch Video Solution



https://dl.doubtnut.com/l/_LlvjmMbY0dKx
https://dl.doubtnut.com/l/_XcvInzWpfHS0
https://dl.doubtnut.com/l/_HJBCB8zDo5a7
https://dl.doubtnut.com/l/_Lcj89wnLSCTs

dx

104. A 1B T S :/

@+ @)@

+ %)

° Watch Video Solution

— g6

105. TR Bl : dx

1—=x

° Watch Video Solution

— zt

106. TR Bl : dx

1—=x

° Watch Video Solution

x3dx

107. TATHTA Bl /
(z?

+ a?)(x? + b?)

[ =



https://dl.doubtnut.com/l/_32rN6qOixnqK
https://dl.doubtnut.com/l/_jQHkGOGHEUgc
https://dl.doubtnut.com/l/_on3Mrr1GlEvs
https://dl.doubtnut.com/l/_Oz2DSaY3gZ16

l ®J Watch Video Solution

zidx

108. AT TDPeT~ Bl :
/:L‘2 + a?)(x? + b?)

o Watch Video Solution

cos 6d0

109. P cTA DGl :
sin26 — 5sinf

o Watch Video Solution

etdx

110. ATTHAA Pl :
e2r 4 e% — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_Oz2DSaY3gZ16
https://dl.doubtnut.com/l/_XioBu6AFJqTH
https://dl.doubtnut.com/l/_jIJJNdUT9pmM
https://dl.doubtnut.com/l/_9CujqSYY3Caz

cos 6d6

1. AT [P AN HUI - /

(1 —sinf)(2 — sinb)

° Watch Video Solution

zdzx

112. 3T TH A D[l :/
2rt — 322 — 2

o Watch Video Solution

x2dx
113. 3 [DhcAA Il :
20 — 5x3 + 6

o Watch Video Solution

2
- —1
114. 57T 1P TN Bl :/ dx
zt + 2% + 1

[ e


https://dl.doubtnut.com/l/_aGUM4WLf8zmL
https://dl.doubtnut.com/l/_sfVaJqYyt2yp
https://dl.doubtnut.com/l/_TsENsv8LDDPm
https://dl.doubtnut.com/l/_dOBoVOONNbcB

[ W Watch Video Solution

115. THTHAF Bl : /—1)

o Watch Video Solution

1
4

i —CL‘) dx

116. THTHTF Bl : /

° Watch Video Solution

T

dzx

117. TP DI :/
e +1

o Watch Video Solution



https://dl.doubtnut.com/l/_dOBoVOONNbcB
https://dl.doubtnut.com/l/_Ngtk45uA67p8
https://dl.doubtnut.com/l/_ZLivHumL1Ph4
https://dl.doubtnut.com/l/_V0rzLixx4OON
https://dl.doubtnut.com/l/_IRQBdFM6c2C5

dx

118. AT TH A~ DI :
xd+ 2 +1

° Watch Video Solution

d
119. JFTDH A D[l /—33
1 —sinx

o Watch Video Solution

1207{WW/ dx
m—a(w—b)

o Watch Video Solution

2

dx

121. TP A Pl :‘/“I
1+ x2

o Watch Video Solution



https://dl.doubtnut.com/l/_IRQBdFM6c2C5
https://dl.doubtnut.com/l/_MYXHa8m1tvua
https://dl.doubtnut.com/l/_1bhfpBpKx9jE
https://dl.doubtnut.com/l/_N5sWVYaobq7d

1 2
122./(:1; + ;> dz a3 T fAdfg Bt

° Watch Video Solution

sin x
123. / dxr A3 14 2 -
sin 2x

o Watch Video Solution

z+3 5
124./(T)d:c

o Watch Video Solution



https://dl.doubtnut.com/l/_N5sWVYaobq7d
https://dl.doubtnut.com/l/_O1dQCuXIe8xd
https://dl.doubtnut.com/l/_L02PonWoNHVy
https://dl.doubtnut.com/l/_0xrUMHMdUifB

cos ec’r

dz(0 < a <b) ¥ OWQI aq

125.9M [ = /

va + beot? z

RICEIGE

o Watch Video Solution

126. am

/cos7:13da: — Asin’z + Bsin®z 4+ Csin®z + sinz + k

T OR-
1
AA==
7

1

B.A= — =

7
CB=— 2
Z 75
D.B= >
775


https://dl.doubtnut.com/l/_IhyKgcoHPUob
https://dl.doubtnut.com/l/_stI8Ba1GrTWg

Answer: B::D

o Watch Video Solution

d 1 3
127. IM v — —tan ! (—tana:) + ¢ g, ©[@
4 + 5sin’z k 2

K a3 d14 2 -

° Watch Video Solution

128. I

/ z? J 11 V2
x = —lo
2rt — Txr2 — 4 k &

18
2%, 0d K a9 dI4 2] -

r — 2
T+ 2

ta,n_l( 2:13) +c

+

o Watch Video Solution



https://dl.doubtnut.com/l/_stI8Ba1GrTWg
https://dl.doubtnut.com/l/_QEDVVa7ddfW0
https://dl.doubtnut.com/l/_H20tn1hsNXns
https://dl.doubtnut.com/l/_Y5adLgnZz9X4

103 z
129. 9% [cos etz cos® zdz = k(sinw);’ — 7(sinx); +c
Y, 0 K a9 FI4 2(q -
o Watch Video Solution
130. Rl

2
/ Tt de = Alog|lx — 2| — 3loglz — 1| + ¢ 2T,
z? — 3z + 2

O A 9914 2 -

o Watch Video Solution

131. am

d 2e” +1
/ < = —L—l—klog‘l—i—e_x]—kc?ﬂ,
em(eaz T ]_)2 em(e“’ + ].)

O K 93914 2(q -



https://dl.doubtnut.com/l/_Y5adLgnZz9X4
https://dl.doubtnut.com/l/_OCDZ27muCAcZ
https://dl.doubtnut.com/l/_R67R7Dgi9xTm

I o Watch Video Solution

132/ da =
J(x-3)vr+1

ver+1-—2
A. log +c
ve+1+4+2
ve+1+2
B. log +c
ver+1-—2
C.2(\/§—tan_1\/5) +c
1 \/:1:—|—1—|—2|
D. —log +c
2 ve+1-—2
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_R67R7Dgi9xTm
https://dl.doubtnut.com/l/_6vf7rAWoeNoK
https://dl.doubtnut.com/l/_rbXRg67b2v4g

A.Z:ﬁ—cot_l\/i] + c
B.2:\/§—|—tan_1\/5] +c
C.2:\/z?—tan_1\/5] +c

D.2[\/T + cot ' /x| + ¢

Answer: C

o Watch Video Solution

134./ dz -
(1—22)v/1+ 2?2

A 1 \/1—|—2I3 — V2
- 2\/5 \/1+x +\/§x
5 1 \/1+x \/233
2\/§ 1+ 2
C 1 1+ x2 2x

_2\/§ V14 2 \/§m


https://dl.doubtnut.com/l/_rbXRg67b2v4g
https://dl.doubtnut.com/l/_HSDY8S5fFmGC

D. ATid (BIAIG3 A

Answer: A

° Watch Video Solution

Answer: B

[ ° VAL _ L vl . ~_ ..


https://dl.doubtnut.com/l/_HSDY8S5fFmGC
https://dl.doubtnut.com/l/_iltlEJv0eA3y

L VYvallll VIUCO o0IUtLivIll ) |

n

136. fAqf0-1 fHL MNYTE n A FEL TAF f(z) 99 AIPIT % |

fqfo-2 f(z) 99 0 SHFHSD |

A fqfe- 1 A1 fgfo-2 sifdd aqe f@gfe-2, fagfo-1 ag

5B BIgA|

B. faqfo- 1 51fdd1 faqfe-2 sfdad ade faqfe-2, faqgfe-1 ag
5P FIFA 7T
C. fqgfo- 15151 faqfo-2 5ifds 7|

D. faqfo- 1 95 771 f[7qfo-2 JdS 77|

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_iltlEJv0eA3y
https://dl.doubtnut.com/l/_ZS3IZfGkejxc

1
137. fqqfo-1 I:/ Tt dr = logl———| + ¢
x

(1+ ze®)
991©-2 I- 99 SAT IAIY AfOFIAT 2@ ze” = 2 |

A. fqfe- 1 31f5a1 fagfo-2 Ide aqe fagfe-2, faqfo-1 ag

M5B BIdA|

B. fiqfo- 1 51fdad1 fqqfo-2 5fdd ade fqfe-2, fagfe-1 ag
SIf5E B AT
C. fagfe- 1511551 fqfe-2 515 7|

D. faqfo- 1 315 771 f[7qfo-2 35S 77|

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0VO9UTcC7zLF

